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A foreword to Teachers and Parents

Dear teacher and parent,

We are pleased to present you with this book as part of a developed chain of mathematics

textbooks. For maximum benefit, please note the following:

1—Before solving the story problems, please read them out carefully to your pupils and make
sure they are understood.

2—-There are several correct answers to some of the questions. It is sufficient for your pupils
to mention only one or some according to what is required in the problem. It is with these
types of guestions that we hope to develop our pupils’ creativity.

3—An attempt has been made to remove barriers between mathematics and other areas of
knowledge on the one hand, and practical life on the other hand, according to what has
come to be known as “curriculum integration”. If today’s scientists are mainly concerned
with “the unity of human knowledge”, then the best time to start is the primary stage.
Therefore, it is expected that every single detail in the book will be given attention and care
even if it does not belong to "mathematics” in the narrow sense of the word.

4—-Some affective aims have been included in this curriculum. This is achieved by forming
attitudes towards some social issues (such as the over population) besides developing
appreciation and interests towards the study of mathematics. Therefore, required
discussions, comments, and other like responses should not be ignored under the pretext
that they are not included in school tests.

5-Itis not only the customary standards of education in Egypt that have been given apparent
attention, but also modern trends in the teaching of mathematics. Among these are
presenting comprehensive knowledge of numbers before details pertaining to the place
value and performing arithmetic operations.

6—In the course of designing this book, circumstances of Egyptlian schools have been taken
into consideration. Hence the use of measuring tools and the pertormance of practical
experiments have been kept to a minimum.

7—There are activities and exercises at the end of each unit. These exercises are typical of
the preplanned output of each unit. The activities, however, might sometimes exceed the
contents of the unit with the purpose of reviving extra-curricular activities in mathematics.
These, in general, support the output of the unit and can be viewed as enrichment activities

at the same time.
May God guide us all to what is in the best interest of our beloved country.
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@ Unit One Lesson'1

3-Digit Numbers

The Hundred (and its multiples up to 900)

(1) Add 99+1

99

y

T 700
/

Tens Units Tens Units
9 9 Hundreds | Tens | Units
1 1 0 0
9 10 10 0]
99 +1 =100

And it is read: Hundred
(It is the smallest 3-digit number)

(2) Complete :



(Hundred pounds)

We can exchange “one hundred-pound paper” and replace with 10
papers of ten pounds.

We can also exchange 10 papers of ten pounds and replace with
one paper of hundred pounds

One hundred = 10 tens

(1) Complete as in the example :

Example : | 3tens +7tens =10 tens
30 + 70 =100

4 tens + ... tens =10 tens
40 + @ ....... =100
one ten + ... tens = 10 tens
10 + ... =100
..... tens + .....tens = 10 tens
50 + .. =100
..... tens + Two tens = 10 tens

................ + .ieeeee.. =100




(2) Complete as in the example :

Example :

3 hundreds + 4 hundreds
300 + 400

= 7 hundreds J

=700

5 hundreds + 3 hundreds
500 + 300

....... hundreds

J

[two hundreds +

200

..... hundreds + 3 hundreds
400 + 300

....... hundreds

J

(3) Complete as in the example :

Example : 2+ 3 + 4 =9

20 + 30 + 40 =90

200 + 300 + 400 = 900
4 ) a4 )
3 +1 + 2 =.... 2 + 6 + ... =
30 + 10 + 20 =....... 20 + 60 + ..... =90
300 + 100 + 200 = ....... 200 + 600 + ..... = 900
\_ J \_ J
[ + ... + ... =7 ) (o + ... + ... = ..... b
10 + 30 + ..... = eeee || + ... + e =l
\1 00 + ..... + = ) \200 + 200 + 400= .....

(4) Write the missing numbers in their suitable places :

200 300

600

.

oo o

®

o




(5) Complete in the same pattern :

M| 100, 200, 300,

M 900, 800, ..... , 600 ,
m 100, 300, ..... ) eeens ,
m 800, ... , 400, 200, .....

(6) Write the missing numbers in the following table :

900

901

902

903

904

905

906

907

908

909

910

911

912

914

915

916

918

919

920

921

922

923

925

926

927

929

930

932

933

934

935

937

938

939

941

942

943

944

946

947

948

950

951

952

953

954

955

956

957

958

959

960

967

968

969

970

973

974

975

976

977

978

979

980

981

982

983

984

985

986

987

988

989

990

991

994

995

996

998

999




(8) Complete :

(a) The numbers between 220 and 230 are:
221, ........ ) eeeneen ) eenenns ) ereens ) eeneens ) ereens ) eeneens , 229

(b) The numbers between 640 and 650 are:

(c) The numbers between 815 and 823 are:




(9) Complete in the same pattern:

(@) 175,176,177,

(b) 306,307,308, ....c.... , cnenen.. R, ) eeenenens
(c) 670,669,668, ......... , ......... R, ) eeenenens
(d) 999,998,997, ..., ennnnn. ) ey eneaeaes Y eeenenens
(10) Complete the following table :

Number add 1 add 10 add 100

(a) 68 69 78 168

(b) 400

(c) 304

(d) 597

(e) 780

(f) 887




(11) Write a number that is :

(@) 10 more than 30
(b) 10 more than 490
(c) 10lessthan 70

(d) 10 less than 225

(12) Write a number that is :

(a) 230 +10

(b)y 360 +10

(c) 700 —10 |

d) 130 —10

+10

+10

+10 |

—10

+10

—-10

+10 |

—10




The Place Value

Look at the picture and write the amount of money as in the example

Example

Hundreds | Tens | Units
1 2 3

The amount is ........ pounds




The amount s ........ pounds

hundred ten unit
100 10




(1) Complete as in the example

Example

The
. . number
‘ —»| 345

4 W

3 hundreds 4 tens 5 units
The
. ‘ number
S

..... hundreds ..... tens ..... units




(2) Complete as the example:

hundreds tens units

2 3 5
the place value of the digit| Hundreds Tens Units
the value of the digit 200 30 5

The number is : 235
is read as: Two hundreds and thirty five

............ units + ............tens + ............ hundreds.
b) The numberiis ............
c) The place value of the digit 4 in the previous numberis ............
d) The value of the digit 5 in the same numberis ............




(3) Complete:

(a) 4 hundreds, 6 tens, and 3 units
the numberiis ............ and is read

(b) 7 hundreds, 2 tens, and 5 units
the numberiis ............ and is read

(c) 8 hundreds and 7 tens
the numberiis ............ and is read

(4) Complete:

(c) 572 = ....... +70 + .......
(d) 758 = ....... S T +3
(e)d444 = ....... + s + e
(f) 450 =....... + e + e
(g) 707 = ....... + e + e




(5) Circle the value of the underlined number (as in the example):

374 3652 745 31
700,(70),7 | 200,20,2 | 700,70,7 | 300,30,3

666 401 93 777
600,60,6 | 100,10,0 | 900,90,9 | 700,70,7

(6) Underline the suitable number (as in the example):

Example

[ 4 hundreds and 3 tens J [ 7 tens and 5 units J

340,430, 403, 304

57,75,705,750

[ 3 hundreds, 8 tens ] [ 5 hundreds, 4 tens, and 3 units ]

830, 803, 380, 308

[ 3 hundreds, 6 tens J

360 , 630, 306 , 603

14

534, 543, 354 , 345

[ 7 hundreds and 4 units J

407,704,740, 74




(7) Join the cards with equal numbers:

43 + 500

400 + 30 + 5

435

400 + 35

500 + 40 + 3

543

5 hundreds, 4 tens, and 3 units

4 hundreds, 3 tens, and 5 units




@ Unit One

(8)Write the numbers 330, 290, 440, 590, 350, and 480 in their
suitable circles (and leave the rest empty):




Comparing Two Numbers and
Ordering Numbers

Example: Remark the following

4 hundreds > 3 hundreds

4 3 1 431 > 342
l 5tens > 2 tens
3 5 2 352 < 326
l l 3 units < 4 units
3 2 3 323 < 324
(1) Underline the greater number
53, 143 597 , 602
749 , 777 956 , 965

w
N

w e — w e ——
N -o-o—— N -o-o——

N

N 0000— o) 000000 —

102, 99

63, 83




. (b) 610 597

¥ (e) 875 874

© (d) 499 499

" (e) 193 210

[ |

C(f) 714 619

i

fjnﬁc Eh_%&% e I Pt
fi NEL

' | < _
7] | T

© 235 237 248 249
E - | T T I
|

452 453 470 471

il

n _ _ - _ _
S = = B

. 600 601 870 871

3

= = =, = = =
N E B N
T 1T 1~

-
|




(4) Complete as the example

The number just after the number 250 is 251

The number just before the number 720 is 719

(a) The number just after the number 327 is ....................
(b) The number just after the number 599 is ....................
(c) The number just before the number 253 is .................

(d) The number ............... is just before the number 400

(5) Arrange each of the following sets of numbers in ascending
order (from the smallest to the greatest) and in descending
order (from the greatest to the smallest).

(a) 624 , 357 , 425, 286
ascendingly T
descendingly D

(b) 815,999, 718, 357, 614
ascendingly T

descendingly Ceeeen

(c) 201, 524 , 637, 900 , 723

ascendingly Ceeeen

descendingly D




(6) Arrange the following numbers in order and put them in
their suitable places:

524 , 245 , 425, 542 , 254

The numbers in order are: ....... <ierwn.. <irrnn. <inwn.. <ienwn..

(7) Complete the drawing of the arrows to show the ascending
order of the following numbers:

172

271

217

127

721 712

(8) Write all the numbers that can be formed using the cards
that have the following digits:




Complete:

B The greatest number formed from these cards is .............
B The smallest number formed from these cards is .............
Question:

Can you find out the answers without writing all the numbers?
Think how can it be?

(9) Write the greatest and smallest numbers that can be formed
using the shown cards:

(a)| 6 |,| 3 |,| 7 | The greatest number:........ The smallest number: ........
(b)| 3 || 5 |,| 8 | The greatest number: ........ The smallest number: ........
(191,111, 2 |The greatest number:........ The smallest number: ........
(d)| 6 |,| 3 |,| 4 | The greatest number: ........ The smallest number: ........




(10) (a) Complete in the same pattern:

15 20 25 30 35
35 40 45 50 55
55 60 70

80 85

115

(b) Form a pattern of your own and complete it:

5

(11) Write the numbers 257,752,257 in the suitabte places so that

they are in ascending order.

183 249

659

957




(1) Complete:

Hundreds Tens Units
B74 — | oo | s | e
205 — | s | s | e
980 — > | i | e | e,
(2) Complete:
(a) 5 hundreds, 3 tens, and 2 units
the numberiis ................ andisread..............
(b) 7 hundreds, 5 tens, and 6 units
the numberiis ................ andisread................
(3) Complete the missing numbers:
@ — e
216 218 988 990
(©) < >
I I I
340 342




(4) Complete the missing numbers:

The number |by adding 1 by adding 10 |by adding 100

300

507

788

(5) Use one of the signs <, =, or > and complete with a
suitable number

(a) 948 950
(b) 508 507
(C) 607 = ...........
(d) 413 < ...

(6) Put the following numbers in ascending and descending
order

245,894 , 362, 549, 110
Ascending order : ....... ) eeeene ) eeeenen ) eeenen ) eeeeenn
Descending order : ....... ) eeeene ) eeenen ) e ) eeeenen

24




(1) Find out the pattern and complete:

230 250 270

240 280 320

270 330

(2) Complete:
(a) The smallest 3-different digit number is ..............
(b) The greatest 3-different digit number is ..............

(c) The number of all numbers that formed from 3 digitsiis ............

(3) Nadia wrote a list of all the consequent numbers between 100
and 150. How many times did she write the digit 7 in this list?




(4) Write the digits 5 and 8 in the empty squares so that:

(a) The sum of the two numbers 3 7

and 64 is as great as possible.

(b) The sum of the two numbers 29

and 10 is as small as possible.

(5) Omit one of the digits in the number 475, and write the remaining
2-digit number (in the same order) so that this number is?

(a) As great as possiple ................

(b) As small as possiple ................

(6) Rearrange the digits in the numbers 254 and 21 so that:
(a) their sum is the greatest ................

(b) their sum is the smallest ................

(c) the difference between them is the greatest ................




(7) Complete:

(a) The greatest 3-digit number which its hundreds digit equals

the sum of the tens and units digits is

(b) The greatest 3-different digit number which its hundreds
digit equals the sum of the units and the tens digits

(c) The smallest 3-digit number which its hundreds digit equals

the sum of the tens and units digits is

(8) Complete the following table. Use v and X in the suitable places

(as in the example)

Example

The number

its tens
digit is 3

its hundreds
digit is 3

smaller
than 300

greater
than 300

432

v

b 4

X

v

324

342

343

234

333




(9) Complete the following table by writing the suitable numbers in
the blank spaces

The number i'Fs_te.ns its hu_ndreds smaller qreater

digitis 7 digitis 7 than 700 | than 700
............. b 4 v X v
............. 4 v b 4 4
............. v b 4 v b 4
............. v v X v
............. b 4 b 4 b 4 v
............. b 4 b 4 v b 4




Unit 2
AdditiontandiSuntractionupitor99s




Adding by Numbers

Example
174 + 612 = 100 + 70 + 4 Hundreds Tens Units
+600 + 10 + 2 1 7 4
+
=700 + 80 + 6 6 1 2
= 786 7 8 6
(1) Complete as in the above example
(a) 532 + 264 = 500 + .....+ 2| |Hundreds| Tens Units
+ ... + ... + 4 .......................................
= ..... + ..... + ooo/M| ©ocoooooooooo || 0000000000000 || 0000000000000
(b) 675+ 24 = ..... + ... + . Hundreds | Tens Units
+ ..... + ..... + oo | cocococusoooon ] oooooocooosoo | GO0UOOOLOCOOU
= ..... + ..... + oo/ ©ocoooooooooo || 0000000000000 || 0000000000000
(c) 208 + 791 = ..... T o 4 Hundreds | Tens Units
+ ..... + ..... + oo | cococoouoooos ] oooooocooosuo | CO0UOOOLOCOOU
= ..... + ..... + oo/ ©ocoooooooooo || 0000000000000 || 0000000000000




| 1
: g
|
. (a) 214 (b) 150 (c) 601 )
: + 653 + 419 + 106 g
LT LD :
5 N
|

|
©(d) 432 (e) 654 (f) 611 )
i + 567 + 234 +143 ¢
T T T :
' '

(a) 600 + 39 =.............

(b) 100 + 200 =..............
(c) 300 + 150 = ..............
(d) 111 + 222 = ..o,
(e) 832 + 235 =..............

(f) 666 + 333 = ...,




&
-
L

Lesson 2 °

Adding by Renaming

Example (1) Example (2)
/7\+ 8\ /7 i +/3\

=5+2+8 = 7{9}1 +/2

=5 + 10 = 80 + 2

= 15 = 82
7 79

then7 + 8 =15 or + 8 therefore 79 + 3 =82 or +_3
15 82

Complete as in example (1) Complete as in example (2)

/SOA
6 +7
/N \ =57+ .+ ..
=3+ ... + ... \/
N = .+
=3 + ..
6 57
therefore 6 + 7= ... or - + 4

therefore 57 +4=.... or ——




| Example (3) :
'.‘ To find the sum of 37 + 45 we can follow these steps : :
1] 1]
| ] [ |
il B
[ ] [ |
g E
i =70+ 10+ 2 E
[} ]
3 = 80 +2 .
] = 82 F
[ ] [ |
a Therefore 37445 = 82 P
I B
| B B
| ] | |
[ | | |
[ ] ; . [ |
: + 27 vl e -
| ] ' B
! = . F s = .. S = .. -
. Then E8 % 27'= .ovuer :
: (0) 74 :
*
- w7 — -
] . B
[ = s 5 R + ... — R, &
. Then74+17= ... .
] (C) [
] |
f i [ ].—.’... B
| ] [ |
[ | [ |
[ ] — R . | S + ... - 4+ ... o e eeaas [ |
. Then39+28=.... -




Example (4) Add 45 + 28

(3 units and one ten)

] 1
: .
[ |
I Tens Units Tens Units Tens Units :
[ 1 ® 1
1 4 5 4 10 1
. [ |
] 4 § :
] — —— ]
[ | 8 [ |
. [ |
i ) 2 3 - : i 3 I
. 7 3 ]
. |
i 5+8=5+5 +3 T 45
: = 10 + 3 +28
[ |
| |

73

Add 57 + 34

Tens Units Tens Units Tens Units

7+4=7+ ..... + ..... T 57




Add :

Example (5)

(a)9+4=13

9
+ 3
14

(b) 17 + 5 = 22

®
17

+_5
22

Add as in example (5)

b)y26+7=......

26
+ 7

(c) 68 + 54 = 122

D

68
+ 54

122

Example (6) Add :
(a) 257 +6 = ...... (b) 628 + 84 = ...... (c) 193 + 342 = ......
D D @
257 628 193
+ 6 + 84 + 342
712 535

Complete as in the example (6)

(a)614 + 8 = ......

614
+ 8

|
[
]
[
. e
[
[
[
[

(b) 919 + 77 = ......
919

(c)608 + 136 = ......




Example (7)

Underline the closest number to the sum of these numbers
(without adding)

(a) 81 + 18 (100 ; 200 ; 300)

9 tens — 100

(b) 216 + 310 (400 ; 500 ; 600)
5 hundreds 2 tens (step 2)
(step 1)

(4 ) 4
(c) 328 + 461 (700 ; 800 ; 900)
7 hundreds
(step 1) 8 tens (step 2)

v v

: (8 tens —— 100)

I 1
- Complete in the same previous way '
: |
‘(a) 13+ 95 (100 ; 200 ; 300) i
[ |

' (b) 208 + 417 (500 ; 600 ; 700) :
: [ |
~ (c) 461 + 150 (400 ; 500 ; 600) .
i |




a5 + 3 = 3 + 5

(b) 17 + 11 = 11 417

(c) 238 +7 =7 + 238

Complete in the sam way :
(a) 280 + 47 =47 + ... (b) 743 + ... =172 + 743
(€) ... + 97 =97 + 418

Complete by the same way
(b) 178 + 2 + 200

=(...+...)+ 200

= ...+ ...= ..

(a) 97+ 3 + 14
=(...+...)+14

= ...+ ...=...

" 1
| |
S (1)6+4+3= :
: () (b) :
1 6+4+3 6+4+3 i
- =(6+4)+3 =6+ (4 +3) :
- =10+3 =6+7 i
I=13 =13 |
- What do you notice? i
i |
- (2)96 +4 + 18 (3) 24 + 119 + 31 i
. =(96+4)+18 =24 + (119 + 31) :
i =100+ 18 =24 + 150 i
© =118 =174 :
|

| |
| |
i |
i |
(| |
| |
. "




Exercises
on

addition

M 1
 (MAdd: .

[ |
: 394 645 806 381 i
: :
i + 206 + 38 + 109 + 47 1
. 1
T )
. 1
. 1
. 1
: 087 753 874 398 i

[ |
i + 624 + 169 + 36 + 65 :
i 1
A .
. 1
' '

Complete :




Complete : 45 37 |l ...

i +83 |l + compare
between
the two

U | B B results.
(3) Add
172 400 e
+ 203 + 123 + 59
+ 265 + 286 + 603
122 608 432
+ 119 + 34 + 171
+ 390 + 300 e

(4) Complete :
(a) 217 + 598 = .........
(c) 114 + 719 =

What do you expect to find if we add the numbers 45 and
74 and the numbers 37 and 83 and then find the sum of the
two results

(b) 442 + 470 = .........
(d) 542 + 258 =




(3)
on Friday, 563 people visited the
Zoo and on the next saturday
visited the Zoo.
The total number of the visitors
who visited the Zoo in the two
days = ...... + e = e visitor

563 276

(6) On Saturday morning, 59 boys and 84 girls went to the
library in one of the schools :

(a) The number of children who went to Bogs Girls
the library 5 84

(b) What are the benefits of going to the '\G-)—/'

library ?




(a) 546 + 217 1900
(b) 106 + 315 1400
(c) 294 + 406 [ 700
(d) 323 + 546 1768

| 1
| |
| |
| |
. (a) 43 + 39 (100, 200 , 300) )
| |
. (b) 287 + 318 (400 , 500 , 600) -
i [
© (c) 132 + 115 (300 , 400 , 500) .
| |
© (d) 464 + 336 (700 , 800 , 900) .
| |




(1) Complete

because 9 =2 + ....

(2) With the help of the figure, complete as in the example

HEERRERKXOOOO0O0O

Example : 183—-7=6
(a)183—-8=.......
(d)13—-11 =....... (e)13—-12 =

(3) Complete as the example:
5

A
|

(8) 8—3=95 -

(b) 8 -4 =
because 8 =4 + ....

(b) 13—9 = .......

the result

(c)13—10 =
(f) 18 =13 =

-

0 1

2 3 4 5 6 7 8 9 1011 12 13

)y 11 —4=........
o1 2 3 4 5 6 7 8 9 1011 12 13
(c)12—-6=........
-ttt
o1 2 3 4 5 6 7 8 9 1011 12 13
(d)13=1=........
= t t t t t t t t t t t t —_—
o1 2 3 4 5 6 7 8 9 1011 12 13
(e) 13 —-12=........
— : : : : : : : : : t t t —_—
o1 2 3 4 5 6 7 8 9 1011 12 13
(Y7 =7 = ...
= —_—
o1 2 3 4 5 6 7 8 9 1011 12 13

because 10 =3 + ....



(4) Notice and complete with
the help of the example :

Example : 245 -213 =32
(a) 747 —315=.........
(b) 478 — 145 = .........
(c) 592 — 471 = .........
(d) 946 — 545 = .........

(5) Notice and complete as in
the example :

Example : 21 —18 =3
21 — > 1
- 18 -1
3
@) 43
— 29
(c) 67 - 48

(e) 54 - 45

11
8

3

Hundreds Tens Units

Hundreds Tens Units

(b)

(d) 36 - 16 =




(6) Notice and complete with the help of the example :

Example : 375 —-158 =217
375 —— Hundreds | Tens Units
—-158 3 @7 @5 minuend
1 5 8 subtrahend
2 1 7 remainder
(a) ¢ ) (b) £ S
864 643
— 529 - 319
(c) 976 — 748 = .... (d) 228 — 119 = ....

(1) Subtract :

(a) 927 d) [ 672 ©)( 307 (d)( gaas
_ 415 _ 349 ~ 117 _ 457

(€) 775 — 258 = .... (f) 496 — 269 = ....

(9) 310 — 158 = .... (h) 202 — 143 = ...,

(i1)618 —-618 = .... (j)174-0=....

(k) 527 from 641 = .... (1) 709 from 908 = ....




(a)[__1+200 =354
(c) [_1-400=100




The remaining pages = .........ccccceeeeennn. — e T e

The number of pupils who are not going on the trip =

(a) 894,884,874 , ........... e, e, e,
(b) 650 , 600, ............ e, 450, ... e,

© () 770,700, 630, .......... e, e e,
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(@) 395 —-196 = ..........

(b) 468 — 282> .........

(c) 532 — 374<.........

(d) 667 — ......... >498 + 152
(€) 452 + .......... <914 — 358

(c) 746 + 126 —300 (400 , 500 , 600)

[ | 1
[ | [ |
[ | [ |
[ | [ |
| (a) 345 -230 (100 , 200 , 300) i
[ | [ |
- (b) 690 — 309 (300 , 400 , 500) i
[ | [ |
[ | [ |
[ | [ |
| |
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b
N

(@) 315 + 629 = .........
(c) 614 — 403 = .........

(€) 428 + 399 = .........

e ™

(9) 169
+ 470

[ ]8 7
+ 2 ]

519

(. /

(b) 579 + 248 =

(d) 775 —

468 = .........

(f) 240 = 179 = .........

(h)

~

(i)

(.

1 3

— 46

1 3[ ]

J

(a) 325 — 268

(b) 267 + 468

(c) 493 + 202

100

735

543 — 394
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(1) We have found out that :

346 - 158 = 188

188 + 158 = 346
158 + 188 = 346
subtraction is correct? Think how this can be done ?

So we can deduce the following :

(2) Complete :

Can you use this to find a way to check if the

~

~

437 5[5 4] 611

+ 3 7] + 1 8[] + 2[5 +258
8[]2 72 4 493 []o 5

. 243 EEn []4 8 7[]2
- )| - 4968 - 1[0 — 3768
15 2 148 187 L ]o[]
J J =

(3) Who am 1?

(a) I am a number. If you add me to 500 and subtract 264 from the

resultant, | become 436. Whoam |? ......c.cccceeee.t.

(b) I am a 3-digits number. If you subtract me from 333, the remainder

will be as great as possible. Who am 1?.....................




238, 382, 832, 823, 328 , 283

/ \
\

' ---------------------------------!
: |
: (a) The sum of the new numbers is as great as possible: .......... N
" and.......... "
i (b) The sum of the new numbers is as small as possible: .......... :
: and.......... N
N (c) The difference between the new numbers is as great as :
: possible........... and.......... X
1 (d) The difference between the new numbers is as small as *
: possible:.......... and.......... :
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Geometry




\@ Unit Three Lesson 1
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Open Curve and Closed Curve

Look at the opposite shapes:

B The green rope has the shape
of an open curve.
B The red rope has the shape of

a closed curve.

(1)Put (v) inside every closed curve:

(2) Draw a closed curve (3) Draw a closed, then draw
around every 3 balls and 3 open curves inside it
answer the questions:

®ogq O

o @
® "o

B Howmanyclosedcurves
did you draw.

B How many balls
remained outside the
closed curves? ......

E_I Mathematics Primary 2



Lesson 2

\\\

The line segment, the ray and the straight line

(1)

Ae B :A\ B'

- is called the line segment AB

- By using a ruler, pencil,
joint the two points A, B

(2) ,

- If the line segment AB extended from B, you will get the ray AB

} >
A B

- If the line segment AB extended from A, you will get the ray BA

(3) -

A B

- If the line segment AB extended from both A and B, you will get
the straight line AB

- } —>
A B

First Term |£



First Column Second Column

> - line segment AB
- Ray AB
> - Straight line BA
- Ray BA

A B

A B

B A

A B

Ae

B e C




- (a) How many line segments could you draw? ..................

: (b) How many triangles can you see in the shape you drew? ......... 1
| 1

A.

Y

X

| <t >
<« >
|
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(8) In the following table write the starting point of each ray,
the names of two points on it and two points outside it :

~ LK

Figure (1) A® Figure (2) L Figure (3)

Figure (1) (2) (3)
Starting point

2 points on it

2 points outside it

(9) Write (v) in front of the correct sentence and (X)
in front of the wrong sentence :

(Use the ruler to check your answers if you need to.)
B The straight line that is passing through Y
the points C and D is passing also A
through the pointB () B
B The ray that starts at C and is passing through
D is passing also through B ()
B The line segment that is passing through
the points B and D is passing also through C ( )
B The straight line that is passing through the points
B and D is passing also through A ( )
B The ray that starts at the point D and is passing through
point C is passing also through B ()

C

ﬁl Mathematics Primary 2



Here are some geometric figures:

N

Find out which of these figures can be called polygons:

: B Put (v) inside every polygon




\@ Unit Three
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(2) If you know that the line segments that formed the polygon
are called “sides” and the point where the sides of the
polygon meet is called a “vertex”.

H Write the number of sides and the number of vertices for each of
the following polygons:

[o\(=>(e)

Number of figure 1 2 3

Number of sides |  .voivivciee | i | e

Number of vertices | .oovvovvveccis | s | e,

B What do you notice?

(3) Look at the figure and answer the questions :

(a) How many sides does this figure have?

(c) Join 2 of the vertices to get two polygons,
one of them with 4 sides and the other
with 6 sides.

il Mathematics Primary 2



What is the name of the solid:

(a) whose faces are all squares? ...............

(b) whose faces are all triangles?...............

(c) whose faces are all rectangles?...

(d) That has 2 bases in the form of a trlangle’? ...............
(e) that has 1 circular base and 1 vertex? ..

(f) that has 2 circular bases”?...............




Number of | Number of | Number

The solid faces edges |of vertices




) EXercises

Join each two points and find the number of line segmets you
have drawn.

Ae
°B

Ce eD




n 1
I N
N I
I N
N i
i I
i ]
I I
I N
N I
i N
N i
i I
I i
I I
" M Thenameofthesolidis.............. B The name of the solid is ............. '
: B formed from .......... line B formedfrom.......... line segments :
' segments '

B. .A

Ee oC

B How many line segments did you draw that had these points as their
ends? ..........

- Il How many triangles are there in this figure?..........

. I What is the final figure called?..........




What is the new figure called? ...,
How many triangles does this figure have?..............

~
J

\
4l E = =E =E =E E =E = = N

e /




Measurement




Units of the length

The Metre

(1) Stand up and put your hands
up as in the figure

The distance between your hands in this
position is about 1 metre.

(2) Bring a ruler that is 1 metre long (or ask
your teacher to bring it for you). Ask your
friend to measure the distance between

your hands in the same position to know if it is smaller than or
greater than a metre.

(3) Now after you know what is the metre,
answer the questions: In your opinion,
what is the nearest measurement,
in metres, for each of the following?
Underline the answer that you think is the
closest to the measurement :

a) The length of the blackboard in
metres is ...............

(1,3,9)




-
b) The height of the door in the

classroom by metres is. ........... (2, 4, 6)

c) The height of your friend in class by
metres is ........... (1,3, 5)

d) The length of the classroom by metres
IS weeenens (1,7,20)

e) The height of the school building
IS tevens (4, 60, 20)

f) The height of the Greatest Pyramid by metres
iS e (20, 150, 900)




The Centimetre

Bring a graded ruler and recognise the centimetre. (It is almost as

thick as a marble as is shown in the picture).
Write a close measurement for each of the following pictures:

a) The length of the pencil is

centimetres.




4 Uiidrounr Lesson 2

The Metre and the centimetre

1 metre = 100 centimetres om

L 2 metres Py

Complete :
Tmetre=.............. centimetres.
The length of the bicycle = ........ + o 1 metre

Complete :
3metres=.............. centimetres.
The length of the car = ........... + -— -

3 metres,

I
Q
®
S
=
3
@
—
-
@
7]

L 10 centimetres




M How tall is Ahmed ? Nady

Tamer Ahmed

--------------------------------

................................

a)3 metres =......... centimetres.
b) 7' metres = ....ccu: centimetres.
c) 5metres = ......... centimetres.
d) 4 metres =......... centimetres.

e) 6 metres and 20 centimetres = ...... + ieee. = ... CeNtimetres.

f) 1 metre and 85 centimetres = ...... F e T e CENTIMEITES.
\, J

r_ )

a) 500 centimetres = ......... metres
b) 200 centimetres = ......... metres
c) 600 centimetres = ......... metres

d) 900 centimetres = ......... metres
N v




f_W

a) 140 centimetres = .............. metres and .............. centimetres
b) 370 centimetres = .............. metres and .............. centimetres
C) 695 centimetres = .............. metres and .............. centimetres
Ld) 307 centimetres = .............. metres and .............. centimetres y

é R
Write each of these lengths in the correct place on the pictures
according to what you think.

A




a) Complete :

® 5 metres and 20 centimetres = .......... centimetres.

® 4 metres and 84 centimetres =
=

b) Arrange these distances ascendlngly (from the smallest to the
. greatest) : ... D e e

.

The long of the left of the cloth = ............ — ............

S s centimetres
\_ )




7 metres , 107 centimetres, 710 centimetres

If the door is 190 cm high and the height of the space above the door to
the ceiling is 1 metre. What is the height of the room ?

1 mietre

SaJ18WIUSD 06|




1 pound = 100 piastres

% pound = 50 piastres

L pound = 25 piastres
A J

r




r

Example:

150 piastres

275 piastres

piastres

piastres




 Join rom the column (8) to the suitable of the colum (A)

(A)

(B)
4 pounds

375 piastres

175 piastres

2 pounds







e 14 e

/s
e

a mount

234 Pounds

a mount

Pounds

a mount

Pounds

a mount







(a) 1 metre = ...... centimetres

(b) 2 metres = ...... centimetres.

(c) 300 centimetres = metres

(d) 700 centimetres = ...... metres.

(e) 437 centimetres = ...... metres and centimetres.
(f) 240 centimetres = metres and centimetres.
(g) 402 centimetres = ...... metres and centimetres.

Complete :
@ The longest of the 3 cars is the
@ The shortest of the 3 cars is the

(a) 475 centimetres[ |6 metres
(b) 3 metres and 3 centimetres| | 303 centimetres
(c) 4 metres and 70 centimetres | |7 metres, 40 centimetres

77 metres 783 centimetres

7 metres, 78 centimetres 770 centimetres

7 metres 707 centimetres




piastres.




If you know that 1 foot = about 30 centimetres and the yard= about
90 centimetres,

Bl Answer the following questions :
(1) Which is longer, the yard or the metre ? ..............
(2) How many feetistheyard 7 ..............

(8) Arrange the following lengths from the longest to the shortest :
6 metres, 4 yards, 400 centimetres.

(4) In football, a penalty kick is played from a point that is 9 yards
far from the goal.

B How many metres is that distance?
B Underline the answer you think is the closest to the real distance?

(6 metres, 8 metres, 10 metres)




If you know that 1 cubit= 58 centimetres and 1 kassabah = 355
centimetres.

1) Answer the following questions:
a) Which is longer, the metre or the
cubit ? .........

b) Which is longer, the metre or the
kassabah 7 .........

c) Arrange the following lengths
from the longest to the shortest :

3 metres ; 2 kassabahs ; 400
centimetres.

2) Underline the answer you think is the closest to the real lengths :
a) The kassabah = about cubits (8,6,4)

b) One kassabah and 2 cubits = about metres (8,7 ,5)
c) 3 cubits = about centimetres (180, 120, 60)

d) 10 metres = about kassabahs 4,3,2)




(3) (100-pound) paper = L.E 100

.................... of (50-pound) papers

of (20-pound) papers

of (10-pound) papers

of (5-pound) papers

of (1-pound)

of (50-piastres)




General Exercises

on the units
page
Exercises onthe unit (1) ....ccooreernecenecenns : 87
Exercises on the unit (2)...........cccccceeeveeneee. 2 93
Exercises on the unit (3)......ccceceiviiiicceeeee. 2 99
Exercises onthe unit(4)....cccoemrveecrnnneen. :103



General Exercises

Complete:

(1) The number which contains 4 units, 3 tens and 5 hundreds is
written as ...........

(2 ) The number which contains 6 units and 4 hundreds is written
(3 ) The number which contains 9 units, 3 tens and 2 hundreds is
written as ...........

(4 ) The number of 4 hundreds and 6 tens is written as ...........

(5) The number 467 = ........... 7] ¢ e O e hundreds
(6) The number 854 = ........... ] 1 £ pmm—m— tens .o hundreds
(7) The number 703 = ........... units ........... tens ........... hundreds
(8) The number 406 = ........... units ........... tens ........... hundreds
(9) The number 520 = ........... units ........... tens ........... hundreds
(10) The number 640 = ........... 7] 3] {- Jm— 1eNs sy hundreds

(11) The number 297 is just before ...........
(12) The number 311 is just before ...........

(13) The number 579 is just before ...........

(14) The number ........... is just before 500




(15) The number ........... is just before 680

(16) The number 801 is just after ...........
(17) The number 493 is just after ...........
(18) The number 799 is just after ..........

Write :
(1) the numbers between 311 and 318 are .............

(2 ) The numbers between 698 , 705 are .............
( 3) The numbers between 517 , 523 are .............
(4) The greatest 3 - digit number is ..............
(5 )The smallest 3 - digit number is .............
(6) The greatest 3 - different digit number .............
(7) The smallest 3 - different digit number .............

(8) The greatest and the smallest number could be formed from 9,
1,3 are.............

(9) The greatest and the smallest number could be formed from 6, 2,
5are ............. ) e

(10) The smallest number formed from 8, 2, 4 is .............

(11) The smallest number formed from 3, 7, 6 is .............

(12) All the numbers could be formed from 2, 5,8 are ............. ) e ,




Arrange in an asscending order:
(1) 518 ,459 ,428 , 580 , 400

Arrange in a descending order:
(1) 954,913,929, 909, 972

(2) 815,739, 751,843, 799
(8) 622, 721, 613, 732, 701

(4) 355, 542, 405, 617, 598

(5) 491, 489, 506, 302, 29, 112

Choose the correct answer:

(1) Five hundreds and seventy seven

(677 or 757 or 775)

(2) The value of 2 in the number 236 is

(20 or 2 or 200)




(8) The greartest number formed from3,5,0is .............
(530 or 350 or 305)

(4) The number 560 exceeds than the number 550 by .............
(10 or 100 or 200)

(5) The number 690 exceeds than the number 490 by .............
(10 or 100 or 200)

(6) The number 220 is less than the number 420 by .............
(10 or 100 or 200)

(7) The number 530 is less than the number 630 by .............
(10 or 100 or 200)

(8) The number six hundreds and six is ............. (660 or 66 or 606)

(9) The number nine hundreds and thirteen is .............
(319 or 931 or 913)

(10) The value of 5 in the number 225 is ............. (5 or 50 or 500)
(11) The value of 4 in the number 641 is ............. (4 or 40 or 400)

(12) The place value of 7 in the number 718 is .............
(units or tens or hundreds)

(13) The place value of 8 in the number 978 is .............
(units or tens or hundreds)

(14) The smallest number formed from the digits 6, 1, 8 is .........
(618 or 816 or 168)




(15) 9 hundreds + 6 units = ............. (69 or 96 or 906)

(16) 3 tens and 6 hundreds = ............. (603 or 306 or 630)

@ Complete the following:

(1) Using the digits 9, O, 3
(a) the greatest number is ...........
(b) the smallest number is............

(2 ) Using the digits 6, 2, 5
(a) the greatest number is ...........
(b) the smallest number is............

(8) Using the digits 4,7,8
(a) the greatest number is ..........
(b) the smallest number s ..........

(4) Using the digits 3, 9, 1
(a) the greatest number is ...........
(b) the smallest number is............

(5) Using the digits 7, 2, 9
(a) the greatest number is ...........
(b) the smallest number is............

(6) Using the digits 8, 2, 6
(a) the greatest number is ...........
(b) the smallest number is............




Complete the follwing table:

The number in

The number Units Tens | Hundreds leier=
341
342

B Complete:

Complete:

@) 132 =2+ ....

(0) 649 = .........

+ 40 + 600

©€).......=1+10+ 100

(d) 920 = 20 + ..

(e) 605 =600 +

.......




g SES

Complete in the same pattern:

(1) 200, 300, 400, ......... e, e,
(2) 400, 500, ......... , 700, ......... e,
(3) 900, 700, ......... , 300, ..o

(4) 310,320, 330, ......... e, e,
(5) 635, 625, 615 , ......... e, e,
(6) 650 , 600, ......... e, , 450, .......
(7) 335,325, 315, ......... e, e,
(8) 168 . 167, ......... 165, .. e,

Complete:

(1) 231, ......... , 229, 228 ,......... ) eeeeens
(2) The smallest of these numbers is ......... and the greatest of them
IS veennnn.

Complete:
(1) 200, 215, 230, ......... e, e, e, R

(2) 990 , 980, 970 ......... e, e, s

(3)




Find the result of each of the following:

811 374 163 N 435
* 118 * 500 * 642 99
N 566 N 905 N 743 N 785

197 55 107 205
777 784 562 616
* 197 t g4 * 249 * 166
844 783 946 845
123 495 ~ 874 745
489 684 328 609
99 577 T 247 ~ 574
800 703 805 792
574 629 429 "~ 574
421 562 551 389
~ 368 269 © 367 204
650 845




Find the result:

(1)800+97 = ........
(3)500 + 144 = ........
(5) 618 + 270 =........
(7)573 +347 = ........
(9)574 +192 = .......
(11) 587 + 369 = ........
(13) 683 + 274 = ........

(15) 911 + 88 = ........

3 Find the result:
(1) 874 -253 = .........

(3) 784 - 698 = .........
(5) 653 - 365 = .........
(7) 758 - 325 = ........
(9) 999 - 897 = .........
(11) 734 - 547 = .........

(13) 482-200 = .........

(15) 675 -175= .........

(2)564 +100 = ........
(4)762 +200= ........
(6)824+35=........
(8)800+199 = ........
(10) 407 + 375 = ........
(12) 444 + 488 = ........
(14) 587 + 369 = ........

(16) 267 + 533 = ........

(2)962-564 = ...
(4) 271 -184 = ..........
(6) 777 - 678 = .........
(8) 688 - 489 = .........
(10) 866 - 624 = ........
(12) 623 -23 = .........
(14) 511 - 115 = ........

(16) 815-129 = ........




Find the result:

@ 54

597

(c) 296 + 642 =

ff1 Compare using (<, =,

a) 216 - 107

b) 317 + 245

C) 943 - 722

®) g8
© 729
(d) 239 - 156 = .............
100
563
102 + 119

] Use the equality 571 + 312 = 883 to complete the following:

(a) Complete:
(1312 + .o = 883

(8) 571 + 312+ 100 =.................

(b) Complete:

(2) 883 =312 = coovovrn..

(4) 571 + 312 — 100 =

(123 + 224) + 326 = 123 + (covorvererenn. b, )

i@ Complete:

a)+738 by 6 47 C)+6DD
190 I8 246
o[ 13 380 L 195




Choose the correct answer:

(1) 800 +97 = ........... (897 or 789 or 978)
(2) 564 + 100 =........... (574 or 575 or 664)
(3) 500+ 144 =........... (544 or 644 or 645)
(4) 762 + 200 =........... (269 or 769 or 962)
(5)623-23 =........... (646 or 600 or 466)
(6) 482-20 =........... (472 or 462 or 452)
(7) 511 - 511 =........... (100 or O or 11)

Answer the following :

(1) Amer has P.T. 375, his father gave him P.T. 250 , how much money did
he have ?

Amer has = ......... S T =P.T.
(2) Father’s Hany bought a pair of shoes for L.E. 123, if he had L.E. 375.
The reminder money = ......... — e =L.E

(8) Your school has 486 pupils,195 are girls how many boys are there ?

the number of boys = ......... — s S,




(4) The visitors of a garden in one day were 564 the next day were
389 how many visitors are there in the two dayes

the number of visitors = ......... o = s

(5) The month salary of a worker is 404 pounds he spends 399
pounds what’s the reminder of money

The reminder with him = ......... — e = e, pounds

(6) A worker saves 283 pounds in one month and the next month
saved 197 pound how much money did he save ?

He saved = ......... + o = e pounds

7) Ali has 800 pounds , he bought a suit for 435 pounds. What’s the
reminder with him

The reminder with Hany = ......... — s T e, pounds

8) Father’s Nouran has 654 pounds he bought a toy for Nouran for
164 pound. What’s the reminder with him

The reminder with him = ......... — s = e pounds




Put the point A inside the curve, the point B on the curve and the
point C outside it:

< — ® >
A B

Find each of the following in this figure and express it in writing:

a straight line......... , two rays......... ) e a line segment ..............
Complete:

(1) The cube has .............. faces

(2) The cuboid has .............. edges

(8) The cube has .............. vertices

(4) The cuboid has .............. faces

(5) The opposite quadrilateral pyramid has.............. vertices

(6) The opposite Triangular prism has .............. faces

(7) The base of cone in the form of .............. é




(8) The cylinder has .............. each one in the form of circle 8

(9) The shape / is called ..............

(10) The shape O is called ..............

(11) The shape «——» is called ..............

(12) The shape D is called ..............

(13) The shape @ is called ..............

Write the name under the following:







mark (+) under the polygon:

-l O L)




Ge 1SS

Complete:

(1) The metre and the centimetre are used for measuring ..........
(2) The metre = ........... centimetres

(3) 2metres = ........... centimetres

(4) 4 metres = ........... centimetres

(5) 500 centimetres = ........... metre

(6) 700 centimetres = ........... metre

(7) 6 metres and 76 centimetres = ........... centimetres

(8) 5 metres and 43 centimetres = ........... centimetres

(9) 7 metres and 3 centimetres = ........... centimetres

(10) 813 centimetres = ........... metres ........... centimetres
(11) 473 centimetres = ........... metres ........... centimetres
(12) 456 centimters = ........... metres ........... centimetres

Circle the suitable measuring unit:
a) The length of the classroom (cm , m)

b) The price of the shirt (piastres, pounds)

c) The length of a pen is measured by (cm, m)




Nabil bought books for 68 pounds. If he had 150 pounds, how
much remained with him?

M The rest = e s T e pounds

Arrange the following set of distances descendingly:

3 metres, 462 cm, 2 metres, 25 centimetres.
Descending order : ............. ) eeeeeneneaeas ) eeeeeeeeaens ) eeeneeeneas

Hady bought a suit for 218 pounds and other clothes for 186
pounds from a shop. How much is the amount he spent at the
shop?

The amount Hady spent = .......... F o = e pounds

8 Arrange these lengths ascendingly: 2 metres, 25 centimetres,
1metre, 150 centimetres

Ayman has 875 piastres. He bought groceries for 750 piastres.
How many piastres were left with him?

The remaining piastres with Ayman =......... — e = e piastres.

] A woman bought a piece of cloth of 6 metres long to make a
dresses, if you know that she used 280 cm for dresses. How long
is the rest piece of cloth.

The length of rest piece of cloth=............. e T e,




Model Tests

for the second form primary
for the first term




Question (1):Complete each of the following:

(1) 4 units, 6 tens, 3 hundreds is written in digits as ............
(2) 417, 427, 437, ........... ) eeeeneenaaea (in the same pattern)
(8) The cube has .............. edges.

(4) The greatest number formed from the digits 6, 2, 5 is ..........

(5) The figure Q is called .............

(6) 5 metres, 43 centimetres = ............. centimetres

Question (2): Choose the correct answer from those between the

brackets:
(1) The value of the digit 4 in the number 564 is ......... (4, 40, 400)
(2) 261 + 100 261 — 100 (<,>,=)
(8) 426 centimetres = ............... metres, 26 centimetres

(4) The smallest number formed from the digits 5, 2, 7 is ...........
(257, 752, 275)
(5) 364 + 236 6 hundreds (<,>,=)

(6) The number of the sides of the figure A = e, sides.
(2, 3, 4)




Question (3): Choose the correct answer from the column (B) to the
suitable one of the column (A):

(A) (B)

(1) The number just after the number 573 is ......... Ho6
(2)425=5+20 + ........... H 500
(8) The place value of the digit 6 in the number 613 | M tens

IS tvenennen. W 574
(4) 5 metres = .............. centimetres W sphere
(5) The solid @ is called ............ B hundreds
(6) The cuboid has ............ faces W 400

Question (4):

a) Find the result of each of the following:

(1)827 +85 = ......... (2) 837 —-379 = ......... (8) 267 + 533 = .........
b) Arrange the following numbers in an ascending order:

419, 149, 914, 941
The orderiis .......... ) eeeeeeneeneas R, ) e

Question (5):
a) Asmaa bought a group of toys for L.E 224 and a mobil for L.E 635.
How much money did Asmaa pay?
Asmaa paid = ............... + e =LE......

b) Write the name of each of the following:




Question (1): Complete each of the following:
(1) The value of the digit 6 in the number 612 is ...............

(2) The number 297= ............ units, ......... tens, ............ hundreds.
(8) 514 centimetres = ................ metres, ............... centimetres.
(4) The solid which all its faces are squaresiis ...............

(5) The greatest number formed from the digits 4, 1, 8 is ............
(6) The figure «———» is called ...............

Question (2): compare using (<, >, =)

(1) 475 410 + 35

(2) The number of the faces of the cube the number of the
edges of the cuboid.

(8) 9 hundreds, 6 units 9 + 600
(4) 3 metres, 43 centimetres 433 centimetres.
(5) 372 - 272 one hundred.

(6) The length of a pencil the length of a school book.




Question (3): Choose the correct answer from the column (B) to the
suitable one of the column (A):

(A) (B)

(1) The place value of the digit 3 in the number 327 | W 987

IS .......... M tens
(2) The solid which has two circular bases is ............ B hundreds
B8)5+30+600-=.............. Il 999
(4) The number just before the number 988iis ............ M cylinder
(5) The figure <:> has .......... sides. w635

M6

(6) The greatest number formed from 3 digitsiis ..........

Question (4):
a) Find the result of each of the following:
(1) 462 + 452 = ........... (2) 730 —616 = ...........

(3) 875 +64 = .........

b) Complete in the same pattern:
200, 215, 230, ............ ) e ) e and the greatest of
these numbersiis ................

Question (5)
a) Sahar had 245 pounds, her father gave her 315 pounds. How
much money with Soha?

What Sahar has = ............. F o T e pounds

1
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Question (1): Complete each of the following:

(1) 9 units, 6 tens, 4 hundreds is written in digits as .................

(2) The cube has ............. faces.

(B) 5metres = .....c.ccenneee. centimetres.

(4)467 =7+ ........... + 400

(5) 417, 427, .......... ) ereeeeens , 457, oo (in the same pattern)

(6) The shape «———iscalled ............

Question (2) : Choose the correct answer from those between the
brackets:

(1) The greatest number formed from the digits 3, 8, 5 is .............
(583, 538, 853)

(2) The place value of 6 in the number 654 is .............

(units, tens, hundreds)
(8) The shape @ represents ..........

(straight line, closed curve, open curve)

(4) 584 centimetres 74 centimetres + 5 metres (<, >, =)

(5) 451 + 216 667 (<, >, =)

(6) The number 690 is mare than the number 490 by .............
(2, 20, 200)




Question (3): Choose the correct answer from the column (B) to the
suitable one of the column (A):

(A) (B)
(1) The value of the digit 3 in the number 537 is ......... M cylinder
M Thel th
(2) The solid @ is called ... . 3oe eng
(8) The number 579 is just before the number .......... = 100
(4) The centimetre and the metre are used for W 530
measuring .......
M ray

(5) The smallest 3-digit number is .............

(6) The shape — is called ............

Question (4):

a) Find the result of each of the following:

(1) 267 + 533 = ............. (2) 271 -184 = .............
(3)653-97 = .............

b) Arrange the following numbers in descending order:
564, 535, 581, 560, 549
The orderiis: ........... ) eeeerearenens ) eeeneeneareneens ) eeeerrerineeneas e ereeeeanan

Question (5):
a) Hani bought a suit for 640 pounds and a pair of shoes for 235
pounds. How much money did Hani pay?
Hani paid = ............ o T pounds




Answer each of the following:

Question (1): Choose the correct answer from those between the
brackets:

(1) The shape @ represents ..........

(open curve - closed curve - straight line)

(2) 6 metres + 7 centimetres = ........... centimetres. (706, 607, 670)
(8) The number of vertices of the square ........ the number of faces
of the cube . (> <, =)

(4) The place value of the digit 3 in the number 341 is ............
(units, tens, hundreds)

(5) 217 = 217 ... 217 -0 (>, <, =)

(6) The shape ——— . represents .........
(straight line - line segment - ray)

Question (2):Complete each of the following:
(1) 800, 700, 600, .............. (in the same pattern)

(2) The value of the digit 5 in the number 651 is ............

(8) The smallest number formed from the digits 2, 4, 1 is .........

(4) The number of line segments in the polygon Q = e

(5) 23+ (117 +200) =23 +117) + ............

(6) The number of edges of the cuboid = ..............




Question (3): Choose the correct answer from the column (B) to the
suitable one of the column (A):

(A) (B)
(1) The greatest number formed from 3-digits = ......... W 990
(2) 9 hundreds + 9tens = ............ | 701
(3) 605> ......... M 999
(4) 701 + 83 =83 + v W Circle

M 506

B)6mM+50cm=............. cm

_ M rectangle
(6) The base of the cone is in the formof a ............ W 650

Question (4):
a) Find the result of each of the following:

First second
. 444 920
488 119

b) Arrange the following numbers in a descending order:
754, 659, 694, 69, 729
The descending order:

---------------------------- §J sEsssssEEEEEEEg EEEEEEEEEEEEEEEEy EEEEEEEEEEEEs

Question (5):
a) Write the name of each of the following:

b) if the number of pupils in one of the primary schools is 745, 418 of
them are boys. How many girls are there?
Number of girls = .................. — rrererneeea SO




Question (1): Choose the correct answer from those between the
brackets:

(1) The place value of the digit 3 in the number 356 is .....................
(units, tens, hundreds)

(2) 756 - 106 = ............. (600, 650, 750)
(8) 6 hundreds ............. 60 tens (<, >, =)
(4) 5 hundreds, 4 tens, 6 units = ............ (645, 546, 564)

(5) Number of vertices of the cube = ......... (6, 8,12)

(6) Number of sides of the polygon NRIT (3, 4, 5)

Question (2): Complete each of the following:

(1) The greatest 3-digit number is ............

(2) The shape — is called ..............

(8)127 +64 =64 + ............

(4) 3 metres + 20 centimetres = .......... centimetres

(5) 432, 533, 634, ............ (in the same pattern)

(6) 852 =800+ 2 + ...ccenun....




Question (3): Choose the correct answer from the second column to
the suitable one from the first column :

First column SRl
column
(1) The solid ] is called ............ W 606
(2) The base of the cone is in the formofa .............. M cylinder
M 660
(8) /\_/ Niscalled ......... _
M circle
4)6m+6Ccm=........ cm
B open curve
(5) The number just after 659 is ........... 559
(6) 600 > ........... B 700

Question (4):
a) Find the result of each of the following:

(1) 654 +46 = ............. (2) 941 - 165 = ...

b) Arrange the following numbers in an ascending order:

56, 538, 138, 380, 338
The orderiis: ............ ) e ) eeeneeeninens ) e ) et

Question (5):
a) Write the number of edges of each of the following:

b) The number of pupils in a primary school is 472, 238 pupils of them
partcipated in a trip to the pyramids. How many pupils are not going?

B The number of pupils who are not going to the trip=....... e I
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